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Section A (30 x 2 marks)
For each question from 1 to 30, four options are given. One of them is

the correct answer. Make your choice (1, 2, 3 or 4). Shade the correct
oval (1, 2, 3 or 4) on the Optical Answer Sheet.

1. The diagram below shows a piant cell. Which part of the cell gives ita
regular shape? _

@3)

(1)
(2) )
2. Study the table below. Which are plant cells?

Cells Nucleus Cell wall Chloroplasts { Cytoplasm
A N v A | v -
B v X X Y
C X X v X
D 3 7 X y

Key: ¥ — structure present
X — structure absent
\ﬂ\A and B only |

2) Aand D only

3)._B and C only
"\

C and D only



3. Study the flow chart below.

Parts of a cell

Present in both animal cells and plant celis?

Controls the activities Capture sunlight for

within the celf? photosynthesis?
/Yes N Yes
w Allows certain substances to Z

move in and fo move out?

X

Y
Which of the following parts of a celi represent W, X, Y and Z?

Parts of a cell
W X Y Z
/1'1 Nucleus Celi Cytoplasm | Chioroplasts
; membrane
/Q»r Cytopfasm Celi ‘Nucleus Chloroplasts
membrane :
/2)’ Nucleus Cytoplasm | Chioroplasts Cell
membrane
Celi Cytoplasm Nucieus Chioroplasts
membrane

4. Which of the following statements about cells in an adult human body is
true?

1} All cells have nuclei.

2} Al cells undergo cell division.

3) All celis have a cell membrane.

4) Ali cells require oxygen, digested food and water to respire.



The diagram below shows the bottom view of a leaf. Use it to answer the
questions, 5and 6. - :

5. The diagram below shows the side view of the same leaf. Which is the
stoma? _

3 @

6. What is the function of a stoma in a leaf?
1) Makes food for the plant.
2) Allows the exchange of gases.
3) Traps sunfight for photosynthesis.
4) Takes in water for photosynthesis.



7. The diagram below shows the cross section of a stem.

Which is the main transport function of Q?

8. The diagram below shows the changes in the life cycle of a plant,

Adult plant
Seédling Flower
E\ /=
Seed +——— | Fruit
D
When do the processes of pollination, fertilisation and germination take
place?
|___Pollination Fertilisation Gerfnination
e C D A
~2) B B E
—8) D E B
C C E

Where the

Substance Where the
transported substance is substance is
carried from carried to
Sugar Roots Leaves
Sugar Leaves Roots
Water Roots Leaves
Water Leaves

Roots




9.’ Study the flowchart below.

Plants

I

Can it be dispersed by wind?

-

A

No

/Yes

Shorea

Ladder fern

o~

Rubber

Pong Pong

. Which subheading best represent A and B in the flow chart?

1)
2)
3)

4)

10. Which of the following characteristics of insect-pollinated flowers and

A B
Can it bear flowers? Can it disperse its seeds far
away? :
Can it reproduce from Can it disperse its seeds by
seeds? splitting?

Does it have many spores?

Does it have a fibrous
husk?

Does it have a wing-like

Does it have fleshy fruits? _

structure?

wind-pollinated flowers are correct?

1)
2)
3)

4)

Insect-pollinated flowers

Wind-pollinated flowers

Small,duli-coloured petals

Largs, brightly-coloured
petals '

Big and sticky pollen grains

Smal and light pollen grains

Absence of scent and
‘ﬂeetﬁﬁﬂES‘ m\-m

Presence of scent and
nectaries

Anther hangs outside the
flower

Anther is found within the
flower




11.

The diagram shows part of an isl

are growing.

and where two types of plants ( «, M )

LY N §

How are the fruits or seeds of the two types of plants most likely

dispersed?

&

1) | By water

By splitting open forcefully

Z) | By spiitting ) open forcefully

By water

3) | By wind

By animals

4} | By animals

By wind

A Soil
B Water
C Oxygen

D Carbon dioxide

1) Aand B only
2) AandD only
3) Band C only
4) CandD only

12.. Which of the following conditions are necessary for germination?




13. Hair colour is a visible characteristic that is
i passed on from
their young. Below shows the family tree of Debbie. parents to

Family Tree of Debbic Key :

O red-haired female

red-haired male

l ‘ . black-haired female
. black-haired male

Debbie

Which of the following statements about Debbie’s family is correct?

1} Debbie has 2 sons and 2 daughters.

2) Debbie has 2 brothers and 2 sisters.

3) Debbie’s sister has the same hair colour as her father.

4) Debbie’s brothers have the same hair colour as her mother.

14. Study the diagram of a human circulatory system below.
: Lungs
A DB
Heart

Other parts of the body

Which of the arrows represent blood that is rich in carbon dioxide?

1} A and B only
2) A and D only
3) BandConly
4) Cand D only



15.

16.

17.

At which part is éompiete!y digested food absorbed into the
bloodstream?

1) ¢

2 D

3 E
4 F

it is passed out of the body?

1) ASCop
2) ADCOD>E

3) ADB>C3DoE

49 ADB3>CID>ESF

[ Part of the human bog Function
1) Brain Protect the skuli
2) Gullet Allow exchange of gases
3)i - Ribcage Protect the digestive s stem
4) Blood vessels Carry digested food, oxygen and

) carbon dioxide
1—1——————‘__‘_______*4



18. Mabel set up an experiment as shown below.

- Rubber tube R -
Bell jar—{)\ u u \K\?\%1 A
200 S ,
2 A

Water e —

Trough———

Which of the following changes would she observe when she exhaled
into the rubber tube?

1) The water tumed chalky.

2) The water level in the trough fell.

3) The water level in the bell jar fell.

4) The veloume.of water in the bell jar increases.
N .

18. A big block of ice is left to melt in a plastic box as shown below.

Surrounding air
Plastic box

lce

< YL 7 Water

Which of the following is true when the ice is melting?

Temperature of | Temperature of Temperature of
the ice the plastic box | the surrounding
- air
1) Increases Decreases Decreases
2} Increases Decreases Increases
3) | Remains constant Increases Decreases

4) | Remains constant Decreases Decreases



20. Water can change from one state to another as shown below.

Pr
Water vapour Pro;ess Water o;:{ess lce

————p ——

Which of the following is true about Process X and Process Y?

Process X ' Process Y
1} Water vapour loses heat Water gains heat
2)  Water vapour gains heat Water loses heat
3)  Water vapour loses heat Water loses heat
4)  Water vapour gains heat Water gains heat

21. The table below shows the meiting points and boiling points of three
substances, A, B and C.

Substances | Melting point (°C)’ Boiling point (°C)
A 45 87
B 32 - 189
C -5 28 -

Which of the foliowing observation is definitely correct when the
temperature of the substances is 32°C? |

1} The substance A is in the liguid state.

2) The substance B is in the gaseous state.

3) The substance Cis in the gaseous state.

4) The substances, B and C, are in the liquid state.

10



22" Bob wanted to investigate how adding some substances wilf 'affect the
. boiling point of water. He heated three beakers of water and measured
their boiling point.

Water Water with salt Water with pepper
What variables must he keep constant in order to carry out a fair test?

A Amount of water

B Mass of substance added

C Boiling point of the solution

D Initial temperature of the water

E Time taken for the solution to boil

A CandE only
2} A, BandD only
A, B, Cand D only

B A
/f A, B, D and E only

23. Which of the following graphs shows the effect of temperature on the
rate of evaporation of water?

1) 2)

=
”

Rate of Evaporation
Y \
Rate of Evaporation

I

Temperature Temperature
3) 4)
o |
.9' F 3 | Q F 3
® ®
o o
j= N jo X
f1] o
- -
tw ]
S ©
o 5
nj 0

Temperature Temperature

I



24. Which of the following bar graphs represents the composition of the
gases in the atmosphere?

M

60

20

L]

Oxygen Carbon Water vapour Nitrogen
dioxide and other
gases

Nitrogen Oxygen Water vapour Carbon

Nitrogen - Oxygen Carbon Water vapour
9 dioxide and other
gases

Oxygen Nitrogen Water vapour Carbon
and other dioxide
gases

12



25. The picture betow shows some sources of pollution which af?éci the
environment.

F
Discharge
from sewage
pipe C

. > Smoke from
: = b i
W e - | making

Transport™ Fildgitad —~2 ; “\ . facto

of paper —* ' ,ﬂﬂﬁ@!‘ ' "- —~ M

products —» \ ] K e !

] ". / '.‘
NS
) \ D
- Discharge from paper-making

factory

Which are direct sources of water pollution?
1) Aand Bonly
2} Band C only

3) Dand F only
4) E and F only

26. Two ring magnets, Magnet A and Magnet B, are put through a rod as
shown below. '

) Rod

E IE Magnet A
/ = / Magnet B

| s— "y

Why is Magnet A suspended above Magnet B?

1} The magnets attract the rod.

2) Magnet A is lighter than Magnet B.

3) Magnet B is pulled down by gravity.

4) The like poles of both magnets are repelling each other.

13



27. Joe placed a bar magnet near three objects.

g

) b

]

Magnet Object
He recorded his observations in the table below.

Objects When the N-pole ofthe | When the S-pole of |
bar magnet is placed the bar magnetis
near it placed near it

A End X | No reaction No reaction
EndY | No reaction No reaction

B End X | Aftracted to it Attracted to it
EndY |Attractedtoit Attracted to it

c End X | Attracted to it Repelled from it
EndY | Repelied from it Altracted to it

Based on his observations, which of

correct?

1) Object A is made of plastic.

2) Object B is made of cobait.

3) Object C is a magnet.

4) Object C is made of a non-metai.

the following conclusions is definitely

28. Eugene dropped some objects into a container of water. The diagram
below shows the resting positions of the objects.

Cork
Container

Wooden pencil

Water

Paper clip

Stapler

Which of the following is the most liely aim of Eugene’s experiment?

1} To find out if the objects are light or heavy.

2} Tofind out if the objects will sink or float in water.

3) Tofind out if the objects are made of metals or non-metals.

4) Tofind out if the cbjects are made from things that were once alive.

14



29. Michelle sets up an experiment fo find out how much light is allowed to
pass through the objects, X, Y and Z. When the torch is shone, she
observed the following on the screen.

Screen

Shadow

T~

Which of the following sets of properties is correctly matched to the
above objects?

X Y Y4

1) | Allows most light | Allows most light | Does not allow
to pass through to pass through | any light to pass
through at all
2} | Allows some light | Allows most light | Does not aliow
to pass through to pass through any light to pass
through at all
3) | Allows mostlight | Does notallow | Allows some light
fo pass through | anylighttopass | to pass through
through at all .
4) ! Does notallow | Aliows most light | Allows some light
any light to pass | to pass through to pass through

__through at all

15



- 30. Study the following set-up.

Which of the following shows 'the relationshi

p between the distance of
the screen from the pen and the length of the shadow?
’ (1)
Length of the
shadow (cm) @
(3)
4)

Distance of the screen from the pen (cm)

-— End of Booklet A —-



Section B (40 marks)
For. the questions, 31 to 46, write your answers in the spaces provided:

31. Study the diagrams below.

( l Celll wall
. — Chiloroplast
.. e ) Cell membrane
@ Vacuole
o0 ) Nucleus
N /
Cell A ' _ CellB

a) Based onthe diagrams, state 2 differences between Cell A and Cell B.
[2] '

Differences between Cell A a‘nd Cell B
Cell A . B Cell B

0

(i [

b)" Based on your ariswers in (@), which of them is an animal cell? 1]

Cell

32. Plants have tubes that transport water and mineral salts from the

to the rest of the plant. They are called

tubes . They aiso have tubes that transport food from

the | to the rest of the plant. They are called

tubes. [2]




33. Study the diagram

“Organism X*, over time.

Organism X R

SRS

below of what ha

ppens to a single-celled organism,

b} How many “Organism X"

would there be at Stage 5? [1}

¢} Why is this process necessary for

“Organism X*? [1}

34. Sam classified som
the headings,

“‘Unicellular and
“Elodea” and ‘M

udskipper”. {2]

€ organisms in

t0 2 groups. Complete the table with
"Multicelidar’ and the organisms,

Organisms Lrganisms
B Amoeba Staghom's fem
Paramecium Mushroom
Yeast

Ostrich




35. The diagram below shows the parts of a flower.

a) Whichpart, A, B, CorD, produces pollen grains and receives pollen
grains during polfination respectively? [1]

Produces polien grains :

Receives pollen grains :

b) lIdentify part D. What will it develop into after fertilisation? 1]

36. Study the diagram of a seed below.

Thin, papery
structure attache§l
to the seed

Seed

@) How s the seed dispersed? [1]

b) Explain your answer in (a). [1}




37.

b)

The diagram below shows a germinating seed.

- Name the part labelled X. 1]

What is the primary function of X? [i]

38.

b}

-

Study the cross section of a flower below.

When one of the parts of the flower is removed, the flower cannot be

- fertilised. Draw a line in the picture above to label this part and identify it.

[

Explain your answer in (a). {1]




39. Robin observed a cell from a plant as shown in the diagram below,

in which part of the plant are you likely to find the cell? Give a reason for
your answer. [2]

40. The diagram below shows the human respiratory system.

¢ N 0
e : Q\ (ii)
i\;_,Q R i )

a) Label the parts of the human respiratory system in the boxes provided.

i2l ‘

b) Which part of the respiratory system will expand and which part will
contract when a person breathes in? 2}

Expand:

Contract:




Complete the table abouyt plant systems and human body systems. [4]

41.
Plant Systems Human Body Systems
(a) | Materials that are Water, mineral salts and Oxygen, carbon
transported by the dioxide and food
transport systems —
{b) | Parts that make up | Xylem tutes and phloem | Biood vessels, blood
the transport tubes and
systems
{¢) | Gas that is given out
during respiration in
't the day Carbon dioxide
{(d) | Part which allows
the exchange of
gases Mouth and nostril
42." Mike, Caleb and Peter obs

inference,

. Mike
Caleb
Peter

erved a kettle of boiling water. Each made an

There is more water vapour in the air now.
The mist coming out from the spout is a gas.
The temperature of the boiling water is rising.

a) Which boy(s) made the cotrect inference(s)? [1]

b} Explain why the other inference(s) was/(were) wrong. [2]




43.

Study the water cycle below.

Water vapour

r

Ciouds

Water bodies [*

y

F

Piants

Fill in the blanks with the letters, A, B, C, D, E and F, to depict the

processes of the water cycle. [3]

Change from liquid state to gaseous state:

" Change from gaseous state to liquid state:

No change in state:




44. Matthew wanis to investigate which material, A, B or C, is most suitable
for keeping his drinks cold. He puts an equal amount of water and ice
cubes in each cup made using the different materials. He places them in
the science laboratory. The results after 10 minutes are shown below.

1

ol _ fce cube Ice cube
—— Water g % Water Water
Material A . 1". Material B Material C
a) Which material, A, B, or C, is most suitable for keeping his drinks cold?
PRy

b} Explain your answer in (a). [1]

45. May made an electromagnet as shown below.

Battery

Wire —

. iron rod
/ o—

y can do fo increase‘the strength of the

List two things that Ma
electromagnet. {2}

b)




46. Substance X was heated over a flame for 25 minutes. T

. shows the change in temperature of Substance X.

15

he graph below

60

Temperature of 50
Substance X

9 40

30

20

10

i

o
5 10

Time (min)

a) Identify the process at AB. {1]

15

20

b) ldentffy the state of Substance X at BC. (1]

1

——————

- End of Booklet B —



EXAM PAPER 2009
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Ql 1 Q21Q3 Q4 Q5] Q6 Q7 1 Q8 | Q9 |Q10{Q11Q12]Qi13 Q141 Q15| Q16 | Q17
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Q18 1Q191Q20 Q21 { Q221023 Q24 | Q25 | Q26 | Q27 | Q28 [ Q29 Q30

3 4 3 3 2 1 2 3 4 3 2 1 1

31)a)i)Contains chioroplast. Do not contain chloropiast.
Larger vacuole than cell B. Smaller vacuole than ceit A.
b)B.

32)roots, xylem, leaves, phloem

33)a)Cell division.
b)16.
€)To ensure the continuity of its own kind.
34)Uniceliular Organisms Multi-cellular Organisms
Mudskipper
Elodea
35)a)C, B

b)Ovary. Developes into a fruit.

36)a)By wind.
b)It has a thin papery piece attached to the seed helps it to catch the wind.

37)a)Seed ied.
b)It provides food for the seedling.
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38)a)

b)Ovary is the one that becomes a fruit when fertilized. If it is removed
fertilization will not be able to take place.

39)Roots. It is found in the roots because the cell has no chloroplast which
gives the plant its green colour. Roots are brown, so their cells do not contain
chioroplast. ‘

40)a)i)nose ii)windpipe iii)lungs iv)diaphragm
b)Expand: lungs.

Contract: diaphragm.
41)a)food b)heart c)carbon dioxide d)stomata
42)a)Mike.

b)Mist is a liquid and not a gas. The temperature of boiling water remains
constant.

43)a)C b)AE ¢)B,D

44)a)Materiat C. _
b)The ice cubes in the cup that is made of material C melted the stfowest

among the three cups. This means that Material C is the poorest conductor of
heat,

45)a)Put more batteries.
b)Increase the number of coils around the iron rod.

46)a)Melting.
b)Liquid.
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